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http://www.isvr.soton.ac.uk/SPCG/Tutorial/Tutorial/Tutorial_files/Web-basics-nature.htm

http://www.ling.mg.edu.au

http://www.kettering.edu/~drussell/Demos/waves-intro/waves-intro.html
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http://www.isvr.soton.ac.uk/SPCG/Tutorial/Tutorial/Tutorial_files/Web-inter-superp.htm
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http://www.kettering.edu/~drussell/Demos/superposition/superposition.html

(a)

(b)

(c)

.5� �������H�����19������
��� .5��������I����ก���  
40, (nodes)  78����/�����ก0�
�HJ����� 2/λ

(c)

(d)

(e)

.5������ก��ก��.0��/��5��
�
���,�-./�.���/�1��ก���
�������40,�/���8��K  ����ก��� 
HL-40, (antinode) 78����/�
����ก0��HJ�����
  

2/λ
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http://www.isvr.soton.ac.uk/SPCG/Tutorial/Tutorial/Tutorial_files/Web-standing-string.htm
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��ก�;���
���-������ก-�38I��������ก�2
��ก��ก��+�HJ� 2 ก�;� ก�;�H����Hb�����+��

ก�;�H����Hb��+�������
ก�;�H����Hb�����+��

ก�;�H����Hb��+�������

( �����!��"�

( �#���]���2�����#��a�����!��"�

( ����
�#��!�$����!��"�

������ 4.3 �����!��"��������
�#��!�$����!��"�

( ����
�#��!�$����!��"�

http://www.isvr.soton.ac.uk/SPCG/Tutorial/Tutorial/Tutorial_files/Web-basics-nature.htm
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�#���]���2�����#��a�����!��"�

�-#��6'8�\!��"��d1��"]-ก�
�]%�-��*����]%�

 (waveform) ��������!��"�

�]���2����!��"�!ก��"#\��ก�
�#��a�����!��"� 
�#�����!ก��"#\��ก�
�#��!�$���������!��"�   

Outer ear
Eardrum

Cochlea

���0���H.8���+�-�����*������������1ก1���.�ก  20  Hz  *8�  20  kHz

�#��!�$�����#�������������!��"�

212
0 10001   W/m  . Ι

−×=

*]�����6."����#0%:�0�$"��!��"��#��a��   1 kHz  ����#��!�$�  

:�ad�����#��!�$�%����'  2/  00.1 mW

!�����#��!�$���������!��"�!\����d1�   �#��������!��"�:�!\����d1��$#"  

�����3+� �
�ก9��0�1����8�������,
I����  I
P

I
S

=

!�����#��!�$���������!��"�!\����d1�   �#��������!��"�:�!\����d1��$#"  

��-�#�����\��n����%����'��1�����-��+�HJ��44��-���+� 

����
�#�������������!��"���*�-#"#��!%7�  ��� (phons) 

212 /  10 mW−�#��!�$�%����' ������
�#�����!�-�ก�
     0  ���
�#��!�$�%����'  2/  00.1 mW    ������
�#�����!�-�ก�
  120  ���  

Threshold of pain
Rock concert

Conversation

120 1

10-1110

100 10-2

10-3

10-4

10-5

10-6

10-7

10-8

90

80

70

60

50

40

Whisper

Threshold of hearing

10-8

10-9

10-10

10-11

10-12

40

30

20

10

0

���04�����0� (m��) �����3+� W/m2

���������0�,0�n_������������3+���������0�3����
�������

!%7��#��!�$����!��"����������
�#��!�$�!��"�!%7�,]�"�

ก2�*���#��!�$����!��"�!%7�����
�#��!�$�!��"� (sound-intensity level)
����$#"     ก2�*��e�"β

0
10   

 log  10      
Ι
Ι

=β

e�"���  212
0 /  10   mW−=Ι

!%7��#��!�$����!��"����������
�#��!�$�!��"�!%7�,]�"�

ก2�*��3*$��*�-#"!%7�!�+�!
� (decibel)  ����$#" dB   
!\���!%7�!ก�"����ก- Alexander Graham  Bell

β

7

0

10    
  

=
Ι
Ι

)10(log  10    7
10=β!�-�  a$� �����1�  7 10   ×=

dB70  =β
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��������	
� 3 �9�U,�����0��0���8��ก��.���������������9�������
�5ก�-2���H��กL������������� 1 ��1�.�ก�9�U,��0����04�����0�
3���������+ 110 dB .����������������������.�ก�9�U,����04
�����0�3�������.8�.������HJ� 90 dB ��� 70 dB 1���9��04

��������	
� 4 ����
�ae�"���%��:2����3�!����ก2���������ก�

/]$e�"�������"]-3��a+d����*�$��-��!%q��6ก
��  a$�����
�#��!�$�!��"����
ก�������!�-�ก�
  65  !�+�!
�  �������
�#��!�$�!��"����ก��:��:�
8�"��ก�a!�-�ก�
 70    !�+�!
�   :�*� 

(a)  �#��!�$����!��"� 
(b)  ����
�#��!�$�!��"�8�"3��ae�"�����1�

������ 4.4 %��ก&ก��'���%!����

a$��*�-�ก2�!�����������/]$���!ก����
�������0�,0�n_ก0� 

 �*�-�ก2�!��������*���/]$���!ก��"-��3��"-��*�d����ก��!���������
*�����1������ก��!���������

p/+�0��ก1��+�04��
�����������*��1����H.�ก��
�������+�04
��
�������ก9���-����p/+�0��ก1��/��-�� 

!��!��"ก%��ก&ก��'���1#-� H��กLก��;_U�HHq����_ (Doppler effect)
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ก�'������ก9���-���
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�������3+��������ก9���-�
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
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
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−

=
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s
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
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
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=

∓
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f
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vv
f O       ' 





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